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KopTtexu (tuple)

>>> ()

>>> (4)

>>> (4,)
>>>b=(1,2,4)

>>> en(b)

>>>t = tuple(range(10))
>>>t+b

[MpMMeHNMbI onepauun Haa crmckamu,
KpOMe U3MeHeHUs

>>> (x,y) = (10, 5)
>>>x,y=10,5
>>> X, Y =Y, X
>>>t=(1,[1, 2], 3)
>>>t[1][0] =4


https://docs.python.org/3/tutorial/datastructures.html#tuples-and-sequences

>>>a = ((220, 284), (1184, 1210))

>>> a[1]
(1184,112110) >>> tuple([1, 2, 3])
zzg[ 1[1] (1,2, 3)

>>> tuple("hello")
>>>

(‘h', 'e", "I, 'I', '0")
>>>

>>> (a, (b, (c, d))) =(4, (3, (2, 1))

>>> 3

4
>>> b

3
>>>



>>> "Home:Work".partition(":")
('Home', "', "Work')

>>>a, ,c="Home:Work".partition(":")
>>> C

'"Work'



>>> minmax(items):
min(items), max(items)

>>>minmax([34, 56, 32, 3, 32, 33])

(3, 56)

>>> lower, upper = minmax([34, 56, 32, 3, 32, 33])
>>> lower

3
>>>



animals = ['cat’, "dog’, "bird"}
Index, value in enumerate(animals):
print(index, value)



>>>gseql =[1", '2]

>>>seq2 =[3, '4]

>>> zipped = zip(seq1, seq2)
>>> |ist(zipped)

(1,'3), (2,'4)]



>>>seq1 = [foo', 'bar’, 'baz]
>>> seq2 = [one’, 'two’, 'three']
>>> zipped = zip(seq1, seq2)
>>> |ist(zipped)

[(‘fo0’, 'one’), ('bar’, two'), ('baz', 'three’')]
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